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Three types of trig substation ,
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%Integrating Rational

FunctionsA rational function is a polynomial

Examples of rational functions :
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XY -14×+1XtraProper Rational function , Improper Rational functions

degree of numerators degree of degree of numeration

Is
denominator degree

of denominator

Any improper rational function can and should
be rewritten as a sum of a polynomial and a

proper rational function Using long division



Improper Polynomial
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When integrating a rational function
,betoveaaythiugclsccheck to see it the integrand is a proper- I

rational function
.

It it is not
, then before

anything else
,

rewrite the integrand a , the

sum of
a polynomial with n propene rational function
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All the techniques we are about to learn
assume we are dealing with a proper

rational function

and fail otherwise
.
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